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B 1.
Apply the &-0 definition to show that Iin}(3x +2)=5.
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B 2.
Apply the &-0 definition to show that Iir[12(5x -7)=-17.

BIRE 3. (FHEHB] 2-1)
Apply the &-0 definition to show that Iin;(xz +5)=9.
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BIE 4. (FiEEHE G 2-2)
Apply the &-0 definition to show that lim 1 =

o>3x—1 2

BIRE 5. (FHEHG 2-3)
Apply the &-0 definition to show that Iin; VX+1=2.
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BRT (#3) MPRAYME—E

1 H B f() £ x=x, FMRFE > RIHMEREZME—FY o

At ]

1° Suppose that lim f(x)=L and lim f(x)=M.
X—>Xo X—Xg

If L#M, then w>0.

2° . limf(x)=L and lim f(x)=M
X—>Xg X—>Xg

. 35>0 such that, VO<|x—x|<&, |f(x)_L|1|f(X)_M|<|L—2M|

So, VO<|x—X,|<&,we have
|L—M|£|[L— f(x)]+[f(x)—M]|£|L— f(x)|+|f(x)—M|<|L—M|,
where yields a contradiction.

Hence L=M . [Q.E.D.]
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